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while NextArrival 1 <= NextDeparture

Client Qeue List = [Client Qeue List;NextArrival 1,1];
NextArrival 1 = NextArrival 1 + 35 + (35-10)*rand():;
end

while NextArrival 2 <= NextDeparture

Client Qeue List = [Client Qeue List;NextArrival 2,2];

NextArrival 2 = NextArrival 2 + (60 + (60 - 20)*rand());
end
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[b,idx] = sort(Client Qeue List,1):;

Client Qeue List = Client Qeue List(idx(:,1),:):

if length(Client Qeue List) > Max Qeue Lentgh
Max Qeue Lentgh = length(Client Qeue List):;

end

Client Entrance = Client Qeue List(1,1);
Client Type = Client Qeue List(1,2);
Client Qeue List(1l,:)=[1];

if Client Type == 1

NextDeparture = sim clock + (18 + (18 - 6)*rand()):
else

NextDeparture = sim clock + (28 + (28 - 8)*rand()):

end
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if NextArrival 1 < NextArrival 2
sim clock = NextArrival 1;
NextDeparture = sim clock + (18 + (18 - 6)*rand()):
NextArrival 1 = NextArrival 1 + 35 + (35-10)*rand():
else
sim clock = NextArrival 2;
NextDeparture = sim;clock + (28 + (28 - 8)*rand()):
NextArrival 2 = NextArrival 2 + (60 + (60 - 20)*rand()):
end
Total IdleTime = Total IdleTime + sim clock - last departure;

d9ys s4xn Olw)y NextArrival 1 ¢ 4.l Jdab alad o
S D99 sdxo Gloao) NextArrival_Z 9 Jdol gl s
Glosbd ols (SOle)y slaojlo Y (s cbloge ped g
e ol aely o gwl gw o Layuriie ol s ded o 3y

DSl 5T e opunssw sl 48 Sla) cubly e s O sdde
NextDeparture jaxis )0 sg gy Olo) ¢d5y50 O &lw 4o
SO s eSO

4 o)yl Jbs 4o LS 4S Sloyide ol axs CountOfClient

S0 dawlxo 1y Gwl 0ol y guagyw Lgo!



WSl odd dw d)lg 4S5 Sloside o1 as Count InQeue Client
...LS._SH L;Jl..L_.g_i_} I

co b ool yT st 4SS la glw) gsexe Total IdleTime
.uLlJu_,od‘)‘J_gj_S“)M‘)w_ﬂgm‘)du.Mj 0 b
Oloy e gaaxo ¢l ) HLALS le) (uS5Liws AverageDelay
oIS gle)y hwsie saawlxo ol jo 45 LS syl g8 1)
cgd 0 0L wl Gwyy (Lo

¢l > 95 ,» ¢l AverageTime WaitingCostumerInQeue
e s eSO ) de Ho gl oluaS Sle) hwsie sals
Y



d SO e sl S sl g
sdahbol y HI ol adw!l Lo UL abl
B S
X+ 02510 X —=
Vn
to.02519 = 2.093
_ (x; — % )?
n—1

wlxo JBwo sl y>!

w0 20

A Aol iy
Sadwls yhiue sla yuzios
P gue Lwlxo )

oo 20 sl 48 olajrie 3ol

ow !l ) S 4 w0 u
low g5
ols) Olo) huwsios
o Uas sl o Uas sl Loy
HSSTas | gl |y gy so LS
o Job o Cio Gy

3 31.99417 0.028012 0.138617

2 14.25547 0.030336 0.090624

2 26.62078 0.024369 0.163662

2 18.39573 0.023869 0.128969

2 19.79544 0.023777 0.15045

2 16.98079 0.022753 0.173424

2 24.51521 0.027643 0.135683

2 18.06008 0.022019 0.14217

2 13.20078 0.022384 0.141397

2 15.33999 0.022275 0.157385

3 20.48015 0.030546 0.119881

2 15.41636 0.027867 0.114688

3 22.526 0.024935 0.154991

2 16.71503 0.027278 0.120871

2 17.3697 0.016503 0.192116

2 14.708 0.02462 0.100112

3 35.93949 0.03033 0.104274

2 28.99327 0.027854 0.137148

2 14.5787 0.013422 0.24583

2 18.5539 0.020143 0.161491
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